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700 Ed L SLUHEACN 149,150 112,082 37,068
710 2L US 147,650 110,582 37,068
714 Ol Xl 33l = 147,650 110,582 37,068
714-01 Gl XI 2 &l = 147,650 110,582 37,068
O JI3 X3 sl
28 147,650,000& -
JIE 110,582,000& = 37,068
= o g A 198, 161 161,093 37,068




ST 2020
WARA = 5 3
sNTE  AEFEIS
® X&3i= CER-ED
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WE - 28 129,437 82,369 47,068
HE S (AZS M) 129,437 82,369 47,068
SRS (AENEII2) 129,437 82,369 47,068
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602 01 Xl 2 99,437 67,369 32,068
01 YB0XI2 32,068 99,437 67,369 32,068
O 2022 = OIEI2
AT 99,437,0008 - I 67,369,008 = 32,068
802 ©r& 20| Ef 30,000 15,000 15,000
03 JIEtBEIE 5,000 30,000 15,000 15,000
O BHABHZH 02 BRI 23
28 30,000,0002 - JI& 15,000,008 = 15,000
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SAaSs He U ESAT AH 29,900 39,900 A10,000
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2 JlEEAS 6,000 6,000 0 6,000
O 24 Z0{9)] 22 X¥ 6,000,008 * 14 = 6,000
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20194 &= 96, 14,000 0 3,342 79,225
20209 & 71, 9,000 0 1,526 61,010
20219 &= 58, 17,000 0 1,517 40,000
20224 & 50, 9,000 0 1,511 40,000

Al 1,308, 230,335 0 112,591 965, 465
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20174 = 184,372 175,228 0 9.144| A 112,956
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